
J1r * YffJ m* ~ 
ij%±iVfYi1:A~~lJ\lJ\JlQI 

* * * * * * * 

6:51 )I:Q a, b )~ p:J; 1-::ft§ Ag~. 1lJ3: $Jj}J;rt: f(x) ~~*J±: (x a )(x - b) ~ Rgn:~~ 

fCa) = f(b)::::: O. 

8 ) 111 x n A BS;fk70 m, n x (n - mp8J$ B Bg*~7g n - m, X. AB 0, a 
jliJJJE A a 0 Sg-1- n ~tYU (p] iiE O)§: f¥ffGt\' -m-1'" n - m ~tY J!-!i; fJ 1rJ!. a = BfJ . 

A = (a,)I1XI1 , b (bp b2 ,' .. ,bn ) 
T ,X=(xI , ,· .. ,x

ll 
)· 

T 
8Jj: ~~·14jJ,f.!fitJl. 

AX=b lUX ATX =0 ssfIl~'ffl3~bTX = 0 ASmt. 

I .n. (18 :51) 1& WI 'ff] W2 n §fH:iH43::rBJ V Bg~1-.:;r:3::rBJEJt¥ftt&z'f[l n. V AS 
~'I17JN~ A , 1rJ!. A -] (0) = ~, A V =W2 • 

I ':i\. (18 ) A n ~ ~ = {x I A x x}, 

V2 ={x-AxlxE R"}. iiE8Jj: 

(j) ~ V2 

(2) R" = ~ Vo. 

* * * * * * * * * * * * * * * * * * * * * * * * * * * * * 

(16:51) 



+2ax+2by+2cz+d=ot§ 

by + 

j~. (16 ) gJ./: i1L~,sB.lij$j(:lID +y2+ 

Rim OJ] :trT"EJI: d(x 2 + y2 + Z2) =(ax 

( 1 8 ) iiE rv=J: xJ a±l ~lMmrtn x: 
? 

­
a-

j

b­

&':tE - xJ a±l ~:iU=. 


